4448 / External View

BMAZ / Components

| (x®&% : TY-34)2008.02.08

No. % / Part name B& / Pcs ME / Material . ZEAIE / Color- Finish

1 filR 2 MM ABS (UL9L4V-0 EBMD Jgu— ,TIv Y
Side plate Flame-resistant ABS UL94V-0 Gray , Black

2 Jayv bIL—-L 1 7 W 2 AT YW=, TIv s « PLIAL L & 7 7ERE
Front frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated

3 i v RVEN 1 7 v IR IWNK= , TIvs « FLIL L & 7UTEE
Rear frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated

L NFAF NN 1 7 b 2# A1100P t1.5 IYWN=TFNIA L, Ty v B3
Slide panel Aliminium A1100P t1.5 Silver anodized , Black Painted

5 | RIESARN 1 7 b 34 A1100P 115 IYNK=FNIA b, Ty %%
Screwed panel Aliminium A1100P 1.5 Silver anodized , Black Painted

6 Hffe A (M M4 x 12) 8 % =SHEsOx— b
Screw(Countersunk M4 - 12) Steel Black trivalent chromate

7 Wt A +ZFREH M3 x 5) IA sk vy vxry x  =ERsO0x-
Screw(Phillips Trapezoidal head M3 - 5) Steel Nickel plated , Black trivalent chromate

8 JLE / Rubber feef A A JL / Rubber 77v ¥ / Black

Ak EERED) / Color TypelEnd of product numberd)

Z£%5 / Code fil¥ / Side plate JLU =L /X)L / Frame- Panel
GS Ju— / Gray v =/ Silver
BB 779y ¥ / Black 77y 7 / Black

180.5

350

e ® o
L2 / Self-adhesive rubber feet
@& /Title
(& 5 S ]
HASHINTRMLE ERay bO-LT -2 @ ]
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED EN[LOSURE
KR /Approved | ¥R /Checked | #E/Created |E#% /Product number RE/Scalew
AR 3 xI CF35-180 —
R —Y /Page
{EFLE /Date 2024/10/09 1/ 3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




N%8 / Internal View

gp@gmtywﬁéz

g gl wip 1aued panIs /

2.5

43.9

2.5

A®W~t%E / Max dim 334

-

| (x®&% : TY-34)2008.02.08

ey R

R 1EH/NRIL (RER)
Screwed panel (Internal View)

1

INAAHINHRIL (HF])

Jyc, wip 1eued 2PNS /

1.7

Slide panel (Internal View)

A = @& /Title S

HASHINTRMLE ERaIvtO-LTr -2 @ ]

TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENELOSURE
%R /Approved | RE /Checked | B /Created |24 /Product number EE/S““Z .
AR 3 xI CF35-180 —
R —Y /Page
£ H /Date 2024710709 2 /3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




~ O IEH/NHR )L / Screwed panel

161.6

JINRJLERE / Panel Frontside

1.5

INAIAFHINR)L / Slide panel

161.7

JINRJLERE / Panel Frontside

1.5

333.8

334

L-pL.?

REY — M

Surface profective film side

REY — M

Surface profective film side

| (x®&% : TY-34)2008.02.08

JINRJLZEE / Panel Backside

JNFJLZEME / Panel Backside

HRRHANFERTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

®% /Title
fggtlay rO—-WARy 72
SLOPED ENCLOSURE

O

AT

&R /Approved | RE /Checked

A

#X /Created
iR

7% /Product number
CF35-180

RE /Scale
14

R —Y /Page

fFaXB /Date 2024710709

3/3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	CF35-18 Model (1)
	CF35-18 Model (2)
	CF35-18
	CF35-18
	CF35-18 Model (1)
	CF35-18 Model (2)




